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Bookiet A {24 x Zmarks)

For sach question from 1 to 24, four options are given. One of them is the carrect
answier. Make your cholfee {1, 2, 3 or 4). Shade your answer on the Optical Angwet
Sheet. (48 marks)
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1 Study the classification chart below.

Things

i L
A B
| |
oW chair
bird table
duck bench

Which of the following do A and B répresent?

(1y [Twngtings " Non-iving tings
{2} ' Cannot inove Can move

(3) | Have four legs "Have two legs s
(1) ;"Camdt" reproduce Can reproduce

busd

Which one of the following statemments about plants is true?
(1) Plants do not rmake food.

{2}y  Plants respond fo sunlight.

(3) Plants getfood frem animals,

{4} Plants canvonly reproduce from: seeds:
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3 Study the table below carefully.

£ o ANk

{ TR
& ‘

i

R R e O
A

: serewdriver

bbb,
miushroom hracket fungus

Which one of the following is grouped wrongly?

{1} bird

(2}  mushroom

{3} scrowdriver
{4} bracket fungus

o

Which of the following statements are true about fems?

A ltis awater plant
2 It ean make its own food.

G It does not produce flowers,

{1} AandBonly
{2y AandConly
{3) BandConly
(4) A BandQC
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&  Look at the.picture of an animal below.

Which one of the following siatements explaing why the animal ebove is
defirtely an insest?

{1} It has three body paris.

{23 It has two pairs of wings.

{3y It feeds its younyg with milx.

{4y It has an outer covering of halr,

& Stucty the flow chart belove.

o

,,L / S

.f/
‘ Ve B Y A Yoo
<L,ay - es e Younhg lves \\ .
_ —~
T

in waty oo

No ,"
5 i No
i)
Have F
me o

| No

W

H

Which one of he following correcty Ieﬁrese'nts a chicken?

1y E
(@ F
@ 6
@ H
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7 Which of the following statements about fungi isfare true?

A They bear fruits.

B They have flowers,

¢ They reproduge from seeds.

D They cannot ntake their own foed,

(i} Conly
(2} Donly
{3} AandBonly

(4} Band Conly

8 \Which of the following isfare necessary for bread to turn mouldy?
A Light
B VWater
C Qxygen
D Carbon dioxide

{n B only

{2) A and C only
3y BandConly
{4} A, B and D only

o Mis Tan wears a pait of rubber gloves to wash dishas so that her hands
will not get wet.

Which one of the Tollowing is another ﬁuﬁ;ab!e material for making gloves
that can prevernt her hands from gelting wel?

{11 Cioth
(2} Metal
{3} Glass

{4) Plagtic
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10 Four different materiats, W, X, Y and Z, of similar shape and size, were
used in the set-up as shown below.

it

- sting
W X Y 1 Z

-t plastic container

gty N x - - coloured water

The height in whieh the colourad water rose to on each strip of
material after 5 minutes is recorded in the table below.

; yp—— . % T
g 5 -
i ¥ e :
Z G

Basad on the resuits above, which material 1s rmost sutadle o be usad fo
absorb milk spilled on a table?

{1) W
ZATD
3 Y
4 Z
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11 Mei carried out an experiment fo test the strength of 4 different
materials, K. L, M and N. |
She then drew a graph to show the resulis of her experimerit as shown
bielow.

+

Strength {units)

K L Gl N

Material

Wiiich one of the following is the maost suitable to make a fishing tine?

1y K
@ L
8 M
(4 N

12 Weiming sef up the expefiment as shown below. He placed a plantin a
containegr fited with water. Then he put a laver of ot on the water and left
the set-up naxt fo the window for one day.

e i Bl

containar

layer of oit

water

At the end of the experiment; he cbhsarved that the water lsvel in the
contalner had decreased. What was Weiming trying to find out from this
experiment?

{1y  Tofind out if the roots ake in water,

(Zy  Tofind out if the plant can take in air.

(3)  Tofind out if the plant can reproduce.

(4) Tofind ot if the plant can make food.

CHE/GoPISA22014 o



13 Which one of the following represents the path taken by the food we
eat?
{1y Mouth < windpipe <> oullet > stomach - Jargs intesting - anus
(2) RBouth > windpipe > gullel - siomach > small intestine = anus
(3)  Mouth = gullet > stomach 2 large intestine <> smallinfestine 2

anus
(4} Mouth - gullet » stomach - small infestine <> large intestine >
anus

14 Whaich one of the Iollowing is corract?

"Organ involved in digestion of | Organ involved in absorption of |
e 1008 _ foed

{1} | mouth large intesting

@ | stomach T farge intestine

3 | smalintestine T emallintestineg

4) 1 large intestine T g mal intestine i

13 Ali had his breakfast. X, Y and Z are parts ¢f the digestive system. The
grapty below shows the amount of digested fogd in the different parts of
the digestive gystem.

A

Amount of digested food

X Y. Z

Parts of the digestive system

Wwhich one of the following correctly identifies organs X, Y and £7

- gt .
(M | Stomach ““Mouth | Smallintestine
2y | Stomach Large imesting | Mouth
(33 | Large intestine | Gullet Mouth

@ | Smallintestine Motth | Stomach

CHIISOPISANZEHL 7



16 Study the picture of a plant carefully.

Wich of the following correctly matches the parts labelled above?

et e A B e NI 4

_ 5 _ o e
” e ™ e ]
2 | oot siem  ; leaf fower |
(3) . flower leaf  stem ool
@y [ flower stemn Teat | reof

17 2 children, Hat, ¥ai and Leo, each made a statement about the leaves of
plants.

Hal
Ko

They make food for the plants.

They take in waler for the plants.

Leo Theyexchange gases with the suiroundings.

o made the correct statement(s)?

{1
2
)
(4}

CHES/SaPAISAZI2014
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18 Jack wanted.to find out if the focation of the pots of plants § and T affects
their growth. The table balow shows what he had done,

Variables | Plant S T Plant T
Number of plants in pot T 5 | 5 T
‘Size ofpot ~small T By
Location of pot cupboard | garden
Duration of experiment | 1 veadk I {week

Jack's teachar told him he did not conduct a fair test, Which variable
should he change to make his experimant a falr oneg?

(D
{Z)
{3
4

Use potls of the same size

Fut the pols at the same location

Ganduct the experiment over § days

Use a different number of plants for each pot

12 Inwhich one of the following arrangements will the two magnets repel
gach other?

(1)

(2)

{3)

(4)

M 8 N 5
i\ 8 3 N
it S N

S
z N .

N
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smoeih glass rod. Ring B iz = magnet,

-y

Pl flEx6S TOC

_ — fragnet
c
e {_
,.E?‘.’j"i.':’ ;Q:e‘ ol ‘:':,.:.;} 4,":“(;;“? "/:7.1)"—:-“ i 1

Which ane of the following is not possible?

X = S
(1) stesl magnet steel
(2) T rubber steel steel
(3) rubber magnet rubber
(4) Tubber magnet magnet %

CHESOPAMSAZIZO 1S
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20 Wilson had four magnets a8 shown below. He brought them close 1o some
paper clips.
7T
. . |
Magnet M Magnet N Magnet P rMacgnet Q
He observed the number of paper clips attracted by each magnet and
recorded the results in the iable below.
| o Magnel M | Magnet N | MagnetP | MagnetQ |
“Number of paper ,. - ST
| clips aliracted 25 1 v >
What can he conclude from the results above?
(1) Magnet P is stronger than Magnet M.
(2)  The strength of a magnet depends on its shape.
{3) Bigger magnets are stronger than smaller magnets.
{4 The strength of 2 magne! does not depend on its size,
21 Inthe set-up below, A, B, © and D are 4 rings which pass through a



22  Which one of the following things does not make use of magnets?

("
(2)
(3
4

Compiier
Telephone
MNewspaper
Refrigarator

Suling had four metal bars, B, F, G and H, and a bar magnet. She

wanted to find oul which metzl bars are magnets.

She brought the north pote of the bar magnet near o the ends of each

7 biar magnst

metal bar.

L Y

BE vy
. }: S

She recorded her obseratinns in the able below,

r

wetal bar

"Observations

J I

- N-poleandend X

I Npoleandend Y. |

- “repefled attracied
5 A aftaced
W 1 no reaction no reaction

R

Which one of the following statements about thes mstal bars is correct?

)
(2)
()
(4}

CHESCPHEAZIZ04

Bar G is a magnat.

Bar H is a weak magnel.

Bars £ and F are magnets.

None of the metal bars is a magnet,

11



274 Jasmine wanis to find out if the number of times an electrical wire is
colled around an iron nail affects the strength of the maghet.

. . A
Which two arrangements below should she sef up in order locanyouta
{alr test?

1y AandB
&y AandD
(33 BandC
(4 Band D

End of Booklet &
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Bookiot B {32 marks)

For questions 25 1o 34, wrilo your answers in this booklel.
The number of marks availabla is shown in brackets [ ] at the end of each quoston
ar part question, (32 marks)

B T LR e i & L BN e T

26 Adice wrote the folicwing i her Scienca journal

Animal X

it has a beak.

It has a pair of wings.

It bas feathers 6riils body.

it reproduces by giving birtth (0 #8 young afive.

i * # &

A——

i
L

(2} Based on Alice’s journal, she concluded Animal X is 3 bird,
Weite dowmn one characteristic 10 suppon her congiusion, i1}

{b)  Herteacher toki her that she hod made a mistake with one ofils
characienslics.

Wiite the correct characienstic below, {31

(Go on to the next page)

ot

SCORE
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o6& Study the flow chart below,

Living things |

Dags it make
ite own faod?

\\EES i“(es

— !ﬁxhkxw““a No

Q&s it lay egos? }—-——-—% G

Can @ move from
siace to place?

8

{a} Write the letier that best repressants gach of The Tollowing: (2}

(7} Flants T e e

(i  Fungi -
(i) Blammals e

{ivi Birds S

(b} What is the difference between A and 87

(Go onto the nexi pagg}

SCORE | -
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27 Felicia was asked to clagsify the following animals into two groups based on

thair characieristics.

R o B

et seal

She said that she coudd classify them in 2 ditfenant ways.

A8 s

() Wirite the hoadings for the classification chart below in the boxes
proniced,

, Body ﬁcyfgfég?g

penguin bt

paLrot  soal

(b S}'*mhen clagsified the animals according to the way thay moved.
Flgoe the four ardmals in the cortect boves befow,

Movaremt

b,

3

(1]

=l

(G0 on'to the next page)
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| SCORE /
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28 {a)

(b

{e)

{d

CHSISHPASAII14 4

The diagram below shows a mustiroom and bread mould.

monid

RUshroom

Stale one common characteristic betwean thenm, {1}

A b . 1T L3 g

James conducted an experiment, He bad two similar pieces of bread. A
and B, He toasted Bread A and added water to Bread B. He then put
hoth pleces of bread inside a box.

Braad A Bread B
< toasted - ith water

What was James teying to find outin this experiment? 1]

What would he notice about the two pleces of bread afler a few days? 1} '

Basides watar, $tate one other condition broad mould needs i order o
geoves, i1}

{Goontothe néxtpage}

SCORE




29 (a) Mr Tan-made atent for his camping trip.

The properties of the three materials X, Y and Z are shown In the table

below.

R S A T e

i Material

o e 0 e g SR x

A T R TR S v s e el

 Proparties
e

Steony

Waterpreo!
Allows light to pass through

Which materials X, Y or £ is the most suilable to make the wo labalied

parig, A and B?

{h Part A
{1y Part B

ORI TR AR AL

B

i e S RN L T - R L S B

S‘ireng B
Walesproof

SCORE

{Go on to the nexi page)




(b} W Tan has wo materfals, G and H. The properties of the two materials
are shown In the table below. -

R

Materiasil G Material H
15 not flexible T e flexibte )
| Allows light to pass through T | Daes not aliow light to pass through |

lens

(i} Which materdal, G or H, is suitable to make the lens of a pair of

spectacles? Explain your answer. {1}
(iy  Write one suitable masterdal for Material G. 1]

CHSSP3ISA220 &



30 Thiee friends, Ahmad, Betly and Devi, ware sharing their know Egdge about
the human digestive system in the diagram below.

{a)

H

(b}

{c}

fhrough the qullet | i al
to the stomach, ] 1 the sfomach,

~
. Water from
Food is passed S undigested food
from the mouth Food is being i being
absorbed in

| absorbad by the
| large intestine,

g A

E\/ﬂﬂﬂrﬂﬁm w.—e'f"[‘Jl

Arnvenad
Whose statemeni{s) is/are corract? (]
Siate ene function of the small intesting. £

Which part of the digestive system is not working well when we have '
diarrhoga (watery facces)? M

{Goonto {he next page}

SCORE

FHEIQADIIS £ /AN 18 7



31  The diagram batow shows a plant.

{a) State one function of the part labelled A, i1}
(b} The plant will die if the rocts were to be remaved. Explain why. [1]
(¢} Give a‘h‘étﬁaf function of roots. (1]
{Go on to the next page)
SCORE 5
vl

CHS/SoPI/EAZIZ04 q



32

=

(&}

Adam bmugm two bar magnets near io each other, He observed that
they moved in the directions indicated by the arrows.,

A Bl lc o |

Indicate the poles "N” or “8" reprasented by parts B and C.

M 8- C-___ [1)

s o

{i) What does this tell you about magnels? (1)

Adam thers marked a bar magnet into five parts P, R, Sand T as
shown in the dingram below,

-

it e )

s @ R S T

TP

Naxt, he lowered the bat magned into & tray of pins and then counted
the number of pins atiracted to the different parts of the bar magnet,

His observation is recorded in the bar graph below,

Number of pins attracted

Parts of magnet

In {he graph above, match the parts (P, Q, R and 8} of the magnét 1o 2]
the bars by filling in the boxes provided. A
{Go on to the next page)}

SCORE
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33

John used & bar magnet 1o magnelise a steel bar in the direction as shown
it the diagram below. ‘

bar magnet
~

—
e e e W

Aeeees gtesl bat

4

{@y What will John observe if he places the steel bar near a plate of pins? 111
{5} Using the method shown above, how can he increase the magnelism
of the stee! bar? {1l
(£} After increasing the magnetism of the steel bar, wivat wilt happen when
the steel bar Is broughi near to the plate of pins again? 1t
{d} State one way how John canmake a magnet lose its magrelism, (1]
{Go ori to the next page)

|

| SCORE E

!
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34 Jimmy coited a wire around an iron nail and connected the ends of the wire
to a battery. He repeated this several times with a different number of tums
around the iron nail. With 2ach different number of furns of wire around the
nail, the number of paper cips picked up was different,

g wire

iran nail pager clip

ey A S o
Tt LN amins

baflery

{a} Whatwould happen o the iron nail when the set-up was conntectad? {1;

(b) Wihe iron nail was replaced by a copper rod, would i still be able to
altract any paper ¢lipa? Explain, {3}

{©) Look atthe resulls of the experiment in the 1able below,

- Number of turns of wire around | Number of paper clips picked up
the iron nail by the iron nail ]
20 o, ;
= S LY S
From the results above, what happened to the number of paper clips
attracied when the number of tums of wire around the kron nail
increased? k]

End of Booklet B - SCORE
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Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10

1 3 4 3 [ 2 2 3 4 2
IR Qi3 | Ql4 Q15 | Ql6 017 | QI8 Q19 | Q20

4 1 4 3 1 3 3 ] 2 4

2l Q22 Q23 Q4
2 3 3

25. a) It has a beak.
b) It lays eggs.

26.a)i) B
i) A~
iii) C
iv)D
b} A cannot make their own food but B can make their own food.

27. a) i} Feathers
ii) Hair
b) Swim: Seal, Penguin
Fly: Bat, Parrot

28. a) Both reproduce by spores
b) If mould needs water to grow
¢) There would be bread mould growing on Bread B but not on Bread A.
d} Warmth

29.a) ) X
i) Z
b) i) G. It allows light to pass through sp that users can see what is in front of them.
ii) Glass




. a) Ahmad, Devi
b) It absorbs the digested food into the bloodstream.
c) Large intestine

. a) A holds the plant upright
b) There will be no roots to absorb water for the plant
c) It holds the plant firmly to the ground

.a)i)B:S
C:S
if) When the like poles are facing each other they repel.
bByRPQS

. a) It will attract a few pins

b) He can stroke it more times using the same pole of the magnet.
¢) It will attract more pins

d) He can heat it up.

. a) The iron nail will become an electromagnet and it will attract the paper clips
b) No. Copper is not a magnetic material. Thus, it cannot be magnetized.
¢) It could pick up more paper clips.
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